### Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 8 - Montrose and District

4,928

4

986

#### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Bill DUFF	Scottish National Party (SNP)	1,142
Pamela RUDDY	Scottish Labour Party	323
Mark SALMOND	Independent	687
Avril SIMPSON	Scottish Liberal Democrats	178
Tommy STEWART	Independent	653
Gill STRANOCK	Scottish National Party (SNP)	570
Ron STURROCK	Scottish Conservative and Unionist	1,375
	Total	4,928

Candidate Bill DUFF Elected with 1,142 votes, being in excess of the quota of 986 Candidate Ron STURROCK Elected with 1,375 votes, being in excess of the quota of 986

# Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Ron STURROCK

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bill DUFF	0	0.00000	0.00000
Transfer to Pamela RUDDY	124	0.28290	35.07960
Transfer to Mark SALMOND	388	0.28290	109.76520
Transfer to Avril SIMPSON	219	0.28290	61.95510
Transfer to Tommy STEWART	261	0.28290	73.83690
Transfer to Gill STRANOCK	13	0.28290	3.67770
Transfer to Ron STURROCK	0	0.00000	0.00000
Value of non-transferable ballot papers			104.68550
	Total		389.00000

# Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Bill DUFF

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bill DUFF	0	0.00000	0.00000
Transfer to Pamela RUDDY	52	0.13660	7.10320
Transfer to Mark SALMOND	92	0.13660	12.56720
Transfer to Avril SIMPSON	14	0.13660	1.91240
Transfer to Tommy STEWART	39	0.13660	5.32740
Transfer to Gill STRANOCK	869	0.13660	118.70540
Transfer to Ron STURROCK	0	0.00000	0.00000
Value of non-transferable ballot papers			10.38440
	Total		156.00000

## Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Avril SIMPSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bill DUFF	0	0.00000	0.00000
Transfer to Pamela RUDDY	2	0.13660	0.27320
Transfer to Pamela RUDDY	63	0.28290	17.82270
Transfer to Pamela RUDDY	45	1.00000	45.00000
Transfer to Mark SALMOND	3	0.13660	0.40980
Transfer to Mark SALMOND	61	0.28290	17.25690
Transfer to Mark SALMOND	40	1.00000	40.00000
Transfer to Tommy STEWART	2	0.13660	0.27320
Transfer to Tommy STEWART	33	0.28290	9.33570
Transfer to Tommy STEWART	28	1.00000	28.00000
Transfer to Gill STRANOCK	3	0.13660	0.40980
Transfer to Gill STRANOCK	2	0.28290	0.56580
Transfer to Gill STRANOCK	22	1.00000	22.00000
Transfer to Ron STURROCK	0	0.00000	0.00000
Value of non-transferable ballot papers			60.52040
	Total		241.86750

# Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Pamela RUDDY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bill DUFF	0	0.00000	0.00000
Transfer to Mark SALMOND	14	0.13660	1.91240
Transfer to Mark SALMOND	52	0.28290	14.71080
Transfer to Mark SALMOND	99	1.00000	99.00000
Transfer to Avril SIMPSON	0	0.00000	0.00000
Transfer to Tommy STEWART	4	0.13660	0.54640
Transfer to Tommy STEWART	44	0.28290	12.44760
Transfer to Tommy STEWART	69	1.00000	69.00000
Transfer to Gill STRANOCK	26	0.13660	3.55160
Transfer to Gill STRANOCK	4	0.28290	1.13160
Transfer to Gill STRANOCK	48	1.00000	48.00000
Transfer to Ron STURROCK	0	0.00000	0.00000
Value of non-transferable ballot papers			177.97830
	Total		428.27870

## Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Gill STRANOCK

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bill DUFF	0	0.00000	0.00000
Transfer to Pamela RUDDY	0	0.00000	0.00000
Transfer to Mark SALMOND	235	0.13660	32.10100
Transfer to Mark SALMOND	10	0.28290	2.82900
Transfer to Mark SALMOND	157	1.00000	157.00000
Transfer to Avril SIMPSON	0	0.00000	0.00000
Transfer to Tommy STEWART	139	0.13660	18.98740
Transfer to Tommy STEWART	2	0.28290	0.56580
Transfer to Tommy STEWART	140	1.00000	140.00000
Transfer to Ron STURROCK	0	0.00000	0.00000
Value of non-transferable ballot papers			416.55870
	Total		768.04190